STATION 1I:

Point A: (3,6) Point B: (5, -12) Point Cis (0, 0)

1) Find the midpoint of AB 3+S b=\2 N\ 4, -
(22 =2) 3 (-3

(3,0)
(«;, 12)
2) Find the slope of B m= b \2 - _(Q
o = % = (A
/___—-—-—ﬁ
_ _ 0+#2_ 12 _S
3) Find the slope of the line perpendicular to CB MCB - —_—T - 1w 'Ti
LO\O) O-S -g —
(G.'.Z)
4) Are A, B, and C Collinear?
Map= -Ci
A8~ lNo'
Mege - "2
G’

STATION 2:

Find the slope of the median and altitude from A if a triangle is formed by connecting points

A (-2,10) B (-4, 3) C (6, 5) A
('2]'0‘) (6|g)
m = 1o=4_ 6 |5, C
(med) -2 5 gadll
(-210) N— [ o-4 5+3)
C L 4) B("‘hg) (T,-_z-
= -3 - 3: = _‘.. - _ . ( |"‘|)
M e b+ o 5 "‘lMLalt)' gI
(-4,3)

(6.5)



STATION 3:

Are (-2,3), (4,6), and (8,8) collinear??? Explain!

Mm = (f;é:é.:a m=
(-2,3) 2 6 |2 (+.6)

(4:0) L$,9)

STATION 4:

-3
(9, 2) and (k, 7) are on a line with sIopeg . Find k.

(4.2) 1;2—'. :-i
(,7) k-4 S
S _ -2
k-9 §

-3(k-9) = &S§

-3k +2F = 2§
-3K=-2

k=2
3
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STATION 5:

First determine if the slope is positive, negative, zero, or undefined. Then determine the value of the slope.

posibive undghned
/ 7 r____)d
m=- wn
(34 M= ‘.’:." - % (3,4)
§-3
zero neg ahve
— o (1,8)
(1,7) (5,7) m= o+ _
-3
\m =0
N

STATION 6:

N

L~ njw

M:g'
| +

3 (xe)| o¢ [y-5=2 (x)

1. Point Slope Form \ ‘4-2' - 4

Given 2 points (1,5) and (-4,2), Write the equation of the line in:

-‘leé_x‘l'\}:
J S

lj = 2 X + -7-’7.-
3. Standard Form s

\v%—\(‘\"ﬂ: ) ov |-3X +gl1=21

e

2. Slope Intercept Form

Al




STATION 7

Use the diagram at the right for problems -

1. What is the slope of AT? m< 'V;

2. What is the slope of the altitude to AT? @ A

3. What is the slope of the line through C parallel to AT? l- F)

4. What is the slope of the median to AT?

L)W\:

STATION 8:

Graph the Following:

a. 4y—-6x =12
tox (X

bx+\2

y ¢

'-_i-_\j:
L‘.

:._3. 3
Y= X
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| (-31 -2)

3 K (9; _6) T

v 49-3 ’3_._.6
R (5, 7%3")
(< -ﬁ)
2, 2
(3,-4)

-3
b. y-5=—(x+5
y-5= " (x+5)
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